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1 Amba Manufacturing Company produces three products X, Y,
and Z which it sells in two cities. Annuzl sales in units is

given below :

Units Sold
Cities X Y y/
Delhi 2,000 1,000 } 4,000

Kanpur 1,500 2,500 . 2250
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If the prices per unit of X, ¥ and Z are ¥ 4.00, T 12,50 and
¥ 10.40 and the costs per unit are T 3.10, T 9.30 and T 8.00
respectively, find total profit in each market by using matrix

algebra.
Or

Mr. Durga Patel has invested ¥ 5,000 into three bonds @
6%, 7% and 8% per annum respectively. The total annual
income is ¥ 358. If the combined income of the first two bonds
is T 70 more than the income from the third bond, find the

amount of each bond by using matrix algebra. S
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(a) Demand function of an item is p = 15¢*3 for
0 < p < 8, where p is the price per unit and x is the
number of units demanded. Determine the price and

quantity for which total revenue is maximum.
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Or

The total cost C(x) of a firm is :

Clx) = 0.005x° - 0.02x2 - 30x + 5,000,

where x is the output. Determine :

() The
(i) The
(i) The

{(v) The

average cost
marginal average cost
marginal cost

rate of change of MC with respect to x

(v)  The value of x for which MVC =- AVC where MVC

and AVC denote respectively marginal variable cost

~and

average variable cost. 6

Assume that the marginal cost in lakhs of rupees is

given by

MC = 4 + 542 + g-e"x.

where x is the quantity produced. Find the total cost

of production where x <+ 2, if fixed costs is ¥ 6 lakhs.
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Or

If the marginal revenue function for output x is given by :

MR = -—»—6~»-— + &, find the total revenue function and

(x + 2)°

the demand function, 6
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Mrs. Y deposits ¥ 5,000 in a bank which pays an
interest of 11% per annum compounded continuously.

How much amount will be in her account after 10 years ?

Or

Mrs. X deposited ¥ 10,000 in a bank for 3 years offering
interest at the rate of 6% compounded half yearly during
first year, at the rate of 12% compounded quarterly
during second year and at the rate of 10% corrlpounded

continuously during third year. Find her balance after

3 years. 4

A machine costing T 80,000 would reduce to ¥ 20,000
in 8 years. Find the rate of yearly depreciation, given
that depreciation is calculated using diminishing balances

method.
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Or

In return of a promise to pay T 500 at the end of 10
years, a person agrees to pay T 100 now, ¥ 200 at
the end of 6 years and a final pf;yment at -the end
of 12 years, If the rate of interest is 2% per annum

effective. what should the final payment be ? 4
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